E. V. P. Racz: Exercises on Mathematics for Economics 1.
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1. Sets

Let A={1,3,4,5,6,7,10,12},B ={3,4,7,11,15,20} and C ={4,5,8,15,20,25}. Find
B\(ANC), (BUC)\(A\B), (A\C)u(BNC).

Let A={xeN:x’-3x-10<0}, B={X€ZZS%4X—2X>—1} and C ={xeZ:-x*+12>x}.
Find C\B,B\C,(AUB)\C,(BNC)U(A\C).

2x—-4

Let A={XGNI 32}, B={xeZ:|x+2=5} and C={xeN:7-3x<-8} . Find

(A\C)U(ANB).

Let AZ{XERZ|4X+5|=11}, B:{XEZZ—X2—4X>12} and C={XEN:X—%ZS4}.
Find AnC,(AUC)\B,(BUA)\(CNB).

Given U = {—2,0,1, 2,3,4, 5} find the complement of A= {X eN:—x*+4x-3> 0} with
respect of U .

Find the complement of A= {X eR:8x*—4x-12> 0} inR.
Find the complement of A= {X eR:-2x*-7x-5< O} inR.

Given A:{XGR:3x2+2x—2<0}, B={XGR:(2x+5)(x—3)+8<(x+1)(2x+1)} and
2X—2

CZ{XGRZ—X— 2—1}.Find A\C,BNC,C\(AUB).

4x+7

Let A={XERZ—X2—2X+12SO} and B={XER:6— S—S}.Find the complement
of AUB in R.

Given A={xeR:-x*+920}, B={xeR:|x-3<3} andC ={xeR: (x+4)(x-2) <0}
find the complement of (AnB)UC in R.Find CNA and BACNA.

Draw Venn diagrams illustrating (AUB)NC,AU(BNC),(AUB)\C and
((AUB)\C)\(ANB).
True or false (use Venn diagrams to show):

a. (A\B)U(A\C)=A\(BNC)

b. (A\B)\C=(A\C)\(B\C)

c. (AUB)\(ANC)=(A\C)\(BNC).



